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We nnd'd}.ub the case whee qC) is MMv\iuL%kW: ep,.:em.w.
Howover, § coutdl be any funckion et meps [01] — IR, inveanbte (endl ifferentichts).
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¢ INTERPRETATION AS THRESHoOLD NWoDbEL
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Then the WY;M for W heS an OnNKupreXarion in Ty of o nzm,sk’on meolel on o
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PROBIT REGRESSION : asswmptions

e YoM Bem(m) inoclep. for i=4,..n

*Ms kTR Cinen yredidor

c ) $t(m) = W with B! quanciee function § & N(o2)
= we obtein T = $(XTR)

Exampee : Sudy on o DresBment for huperBension (high beseol pressuwre)
We observe o binews vesponse vowakle
1 it subjex i has hyperZension
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béool pressure  ( wm Hg )

ke threshotol (fxest)

In The example :
Subje L has hypertension (9i=4) i} their beood preswre i3 above 140/% mmHg.

Model :

For Wimpeleity, we aswme k=o. When Lhe Thareshotol 23 k #+0, £ s wiffletent
Xo conmolr ay Colent vanclom vovable Yi*- k

We astume o GAUSSIAN LINEAR WODEL on The LATENT VARIABLE V:¥*-k = ga‘.*
As3umpuons
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\Mm. assume known vowente =4

However, we olo roc have Y:*, buC onty iv8 dichoTomizesl Verian Y :
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whaL is P(Y%=1)= w ?
P(t:=8)a PCT:*>0)
=4-P(¥*<o0)
= 4- P(XTB+& s0)
= 4- P& s -%R)
= 4- F(-xTR)
= 4- (4-F(ETB)) = F(ETB)
= M= T(XTB)

kam@ammchhYé Can).

Probet r&%«j’c:oh con be inmerpretec of o ¥ Wmpefcation” % « Gomivan Gneor
Model | whert we & el hove olf Informexion on Y bul anty o dichelomited vesyion.

Pr . XTBere ~N(¥TB 1)




